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Valaszadok szama = 55

Felmérés eredmények

Jelmagyarazat

Valaszok relativ gyakorisaga  Atl. elt. Atlag Median

25% 0% 50% 0% 25%

n=mennyiség

Kérdésszoveg Bal polus ! . Jobb polus atl.=atlag
md=Median
elt.=Atl. elt.
tart.=tartézkodas

1 2 3 4 5
Hisztogram
1. Student's assessment of the practice teacher of the institute
. 0% 0% 4% 4% 92%
'? To what extent did the teacher keep to the formal 1 - - - - - 5 050
requirements (punctuality)? a4
elt.=0,4
1 2 3 4 5
. . . 0% 0% 2,1% 6,3% 91,7%
¥ To what extent were her/his explanations logical/ ] : : > > > 5 n=48
understandable? an e
elt.=0,4
1 2 3 4 5
: . 0% 0% 2%  9,8% 88,2%
¥ To what extent did she/he allow/require 1 - - - - |—|!L: 5 =51
independent and precise work? an.=4
elt.=0,4
1 2 3 4 5
: . 0% 0% 0%  82% 91,8%
% To what extent did the practices help you to learn 1 . . . > > 5 n=49
the subject? f =5
elt.=0,3
1 2 3 4 5
: . . 0% 0% 0%  64% 93,6%
¥ To what extent did her/his practices make you 1 5 n=47
interested in the subject? s
elt.=0,2
1 2 3 4 5
. . 0% 0% 2% 3,9% 94,1%
' To what extend did the practice teacher was well 1 5 n=s1
prepared? —T‘ atl.=4,
elt.=0,3
1 2 3 4 5
. . 0% 0% 2,2% 2,2% 95,6%
¥ To what extend did the practice teacher was 1 - - - - : 5 n=45
understandable? =49
elt.=0,3
1 2 3 4 5
. . 0% 0% 2,3% 6,8% 90,9%
9" To what extend did he/she the students’ questions 1 - - —T" - n=44
were well managed? J ansg
elt.=0,4
1 2 3 4 5
. . 0% 0% 2% 2%  96%
19 In sum to what extent did the practice teacher 1 - - - - : 5 n=%0
fulfill your expectation? 1 an=%
elt.=0,3
1 2 3 4 5
Thank you for helping our work with your answers.
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Profil

I
l

Osszehasonlitas:

A profilvonalban hasznalt értékek Atlag

Integrated practise 2015/2016. I.

1. Student's assessment of the practice teacher of the institute
" Tormal reaurements (runctuaityer i N0 &49 md=50 oit=04
1.3) I-Log;,ggle/lh ﬁégigiaﬁifblhee’yhis explanations {. he45 A9 md=50 elt=0.4
1‘
1.5) Loamht?]tee:l:%?é gtl’;j the practices help you to he49 A=49 md=50 elt=0.3
T erestod n he Supacts Practoes makeyou 7 49 Moo oh-02
17) L% l\ivgra; ;;t:gg did the practice teacher was 51 A4 md=50 6103
1.8) 3?1 (\’/g::ttaiﬂggg gid the practice teacher was 145 149 mds50 el=03
19) gﬁ&gﬁangtv%?g \?\/igllhr?’llasrr::gtgg?smdems' '{ n=44  &tl.=4,9 md=5,0 elt.=0,4
1.10) Ifﬂlﬁh”;l]otlor Vél)f(’l;(ta ggggf& ’?iid the practice teacher 1250 Al=49 md=50 6103
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